
DA-129 1 P.T.O.  

Seat No. :  _______________ 
  

DA-129 
December-2013 

M.A. Sem.-III 

504 : Psychology 

(Statistical Inference-I) 
 
Time :  3 Hours]  [Max. Marks : 70 
 

ÍÛæ̃ Û¶ÛÛ :   (1) ¶ÛÛé¶Û-¸ÛóÛé•ÛÛ¾Ûé¼ÛÅÛ ïéõÅÛîýÛäÅÛé¤øÁõ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛÉÛé. 
Instructions :  Non-programmable calculator can be used. 
   (2) þùÉÛÛ×ÉÛÝ¼Ûþäù ¸Û™öà¶ÛÛ …Ûé™öÛ¾ÛÛ× …Ûé™öÛ ªÛ¨Û Í¬ÛÛ¶Û ÍÛäµÛà¶Ûà ˜ÛÛéïõÍÛÛˆ¬Ûà •Û¨Û©ÛÁõà 

ïõÁõÛé. 
     Calculation should be done up to three decimal. 
 

1. ïõÍÛÛé¤øà X …¶Ûé ïõÍÛÛé¤øà Y¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé, …Û ¾ÛÛÜÐü©Ûà¶ÛÛ …ÛµÛÛÁéõ : 14 
 Given below is data pertaining to Test X and Test Y. On the basis of this data : 

 (1)  Y ¶ÛÛ …ÛµÛÛÁéõ X …¶Ûé X¶ÛÛ …ÛµÛÛÁéõ Y¶Ûä× …¶Ûä¾ÛÛ¶Û ©ÛÛÁõÈÛÈÛÛ¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé ÜÈÛïõÍÛÛÈÛÛé. 
  Develop equations to predict X on Y and Y on X. 

 (2) ›Ûé X = 70 ÐüÛéýÛ ©ÛÛé Y¶Ûà …¶Ûé Y = 75 ÐüÛéýÛ ©ÛÛé X¶Ûà …¶Ûä¾ÛÛÜ¶Û©Û Ýïõ¾Û©Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
  If X = 70, calculate the estimated value of Y, and if Y = 75, calculate the estimated 

value of X. 

 (3) ¼Û×¶Ûé …¶Ûä¾ÛÛÜ¶Û©Û Ýïõ¾Û©Û¶Ûà ¸Ûó¾ÛÛ¨Û½ÛæÅÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõà …¶Ûä¾ÛÛ¶Û ©ÛÛÁõÈÛÛé : 

  Calculate the standard error of both estimated values and draw inferences.   

 
¾ÛµýÛïõ 

Mean 

¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û 

Standard      
Deviation (S.D.) 

ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ 

Correlation

ïõÍÛÛé¤øà - X 

Test - X 

76 5.5 

ïõÍÛÛé¤øà - Y 

Test - Y 

53 4.9 
0.89 

…¬ÛÈÛÛ/OR 

 ïõÍÛÛé¤øà X …¶Ûé ïõÍÛÛé¤øà Y¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé. …Û ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ : 

 Given below is data pertaining to Test X and Test Y. On the basis of this data : 

 (1) Y ¶ÛÛ …ÛµÛÛÁéõ X …¶Ûé X ¶ÛÛ …ÛµÛÛÁéõ Y ¶Ûä× …¶Ûä¾ÛÛ¶Û ©ÛÛÁõÈÛÈÛÛ¶ÛÛ ÍÛ¾ÛàïõÁõ¨ÛÛé ÜÈÛïõÍÛÛÈÛÛé. 
  Develop equations to predict X on Y and Y on X. 
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 (2) ›Ûé X = 47 ÐüÛéýÛ ©ÛÛé Y¶Ûà …¶Ûé Y = 49 ÐüÛéýÛ ©ÛÛé X¶Ûà …¶Ûä¾ÛÛÜ¶Û©Û Ýïõ¾Û©Û¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 
  If X = 47, calculate the estimated value of Y, and if Y = 49, calculate the estimated 

value of X. 

 (3) ¼Û×¶Ûé …¶Ûä¾ÛÛÜ¶Û©Û Ýïõ¾Û©Û¶Ûà ¸Ûó¾ÛÛ¨Û½ÛæÅÛ¶Ûà •Û¨Û©ÛÁõà ïõÁõà …¶Ûä¾ÛÛ¶Û ©ÛÛÁõÈÛÛé. 
  Calculate the standard error of both estimated values and draw inferences.   

ïõÍÛÛé¤øà - X 

Test - X 

ïõÍÛÛé¤øà – Y 

Test – Y 

22 09 

18 16 

14 22 

19 13 

13 23 

16 11 

12 15 

15 21 

20 14 

17 10 

 

2. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 14 
 Calculate any two of the following : 

 (A) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ Ü³ùËÛéÜ¨Ûïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé …¶Ûé ÉÛæ¶ýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûà 
˜ÛïõÛÍÛ¨Ûà 0.05 ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ…é ïõÁõÛé : 

  Calculate Biserial Correlation Coefficient from the data given below and test the 
null hypothesis at 0.05 level of significance.   

C.A. ºõÛˆ¶ÛÅÛ ïõÍÛÛé¤øà 
C.A. Final Test C.P.T. ¸ÛÁõà“ÛÛ ¸ÛÜÁõ¨ÛÛ¾Û 

C.P.T. Exam Result ¸ÛÛÍÛ 
Pass 

¶ÛÛ¸ÛÛÍÛ 
Fail 

51-55 06 02 

46-50 08 04 

41-45 02 05 

36-40 11 04 

31-35 07 10 

26-30 03 18 

21-25 02 09 

16-20 01 08 
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  (B) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ Ý¼Ûþäù Ü³ù-ËÛéÜ¨Ûïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé …¶Ûé ÉÛæ¶ýÛ 
¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûà ˜ÛïõÛÍÛ¨Ûà 0.05 ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ…é ïõÁõÛé : 

  Calculate point biserial coefficient of correlation from the data given below and 
test the null hypothesis at 0.05 level of significance.   

ïõÍÛÛé¤øà¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé 

Test Scores 

ÜÈÛ•Û©Û ¸ÛóÛ¸©ÛÛ×ïõÛé 

Item Scores 

80 1 

52 0 

76 0 

82 1 

71 1 

53 0 

49 0 

65 1 

70 1 

55 0 

58 1 

72 0 

 (C) ïõÍÛÛé¤øà X …¶Ûé Y ¶ÛÛ× ¸ÛÜÁõ¨ÛÛ¾ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. …Û ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ˜Û©ÛäÌïõÛéÜÌ¤øïõ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà 
•Û¨Û©ÛÁõà ïõÁõÛé : 

  Result of test X and test Y are as under. Calculate Tetrachoric Correlation from this 
data.   

ïõÍÛÛé¤øà – X 

Test – X ïõÍÛÛé¤øà – Y 

Test – Y ¶ÛÛ¸ÛÛÍÛ 

Fail 

¸ÛÛÍÛ 

Pass 

¸ÛÛÍÛ 

Pass 

 

12 

 

44 

¶ÛÛ¸ÛÛÍÛ 

Fail 

 

32 

 

12 
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 (D) ïõÍÛÛé¤øà X …¶Ûé ïõÍÛÛé¤øà Y¶ÛÛ× ¸ÛÜÁõ¨ÛÛ¾ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé. …Û ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ºõÛˆ ÍÛÐüÍÛ×¼Û×µÛÛ×ïõ¶Ûà 
•Û¨Û©ÛÁõà ïõÁõÛé …¶Ûé ÉÛæ¶ýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûà ˜ÛïõÛÍÛ¨Ûà 0.05 ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ…é ïõÁõÛé : 

  Results of test X and test Y are as under. Calculate the Phi-coefficient of 
correlation from this data. Test the null hypothesis at 0.05 level of significance.    

ïõÍÛÛé¤øà – X 

Test – X ïõÍÛÛé¤øà – Y 

Test – Y ¶ÛÛ¸ÛÛÍÛ 
Fail 

¸ÛÛÍÛ 
Pass 

¸ÛÛÍÛ 
Pass 

15 34 

¶ÛÛ¸ÛÛÍÛ 
Fail 

28 13 

 

3. ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà¶ÛÛ …ÛµÛÛÁéõ ÜÈÛ˜ÛÁõ¨Û ¸Ûè¬¬ÛïõÁõ¨Û¶Ûà •Û¨Û©ÛÁõà ïõÁõà, ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ˜ÛïõÛÍÛ¨Ûà ïõÁõÛé. 14 

 Calculate Analysis of Variance on the basis of the following data and test the 
significance.  

A1 A2 

B1 B2 B1 B2 

5 7 2 7 

6 11 3 5 

7 9 5 8 

9 11 4 10 

6 8 8 9 

8 11 7 5 

6 9 9 7 

…¬ÛÈÛÛ/OR 

 ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà¶ÛÛ …ÛµÛÛÁéõ ÜÈÛ˜ÛÁõ¨Û ¸Ûè¬¬ÛïõÁõ¨Û¶Ûà •Û¨Û©ÛÁõà ïõÁõà, ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ˜ÛïõÛÍÛ¨Ûà ïõÁõÛé : 

 Calculate analysis of Variance on the basis of the following data and test the 
significance.  

A1 A2 A3 

B1 B2 B1 B2 B1 B2 

10 12 17 21 13 12 

11 13 15 22 10 13 

9 11 16 20 19 17 

8 14 - 21 11 14 

9 - - - - 16 
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4. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé : 14 
 Calculate any two of the following : 

 (A) ›ä÷þùà-›ä÷þùà ÉÛà”ÛÈÛÛ¶Ûà ¸Û±ùÜ©Û…Ûé¶ÛÛ Š¸ÛýÛÛé•Û ¸Û™öà ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé. …Û 
¾ÛÛÜÐü©Ûà¶ÛÛ …ÛµÛÛÁéõ ¾ÛµýÛÍ¬Û ïõÍÛÛé¤øà ³ùÛÁõÛ 0.05 ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ…é ÉÛæ¶ýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûà ˜ÛïõÛÍÛ¨Ûà 
ïõÁõÛé : 

  Scores of students after the use of different teaching methods are given below. 
From this data test the null hypothesis at 0.05 level of significance by using the 
Median test.   

ÉÛà”ÛÈÛÛ¶Ûà – A ¸Û±ùÜ©Û¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé 
Score of Teaching 

Method - A 

ÉÛà”ÛÈÛÛ¶Ûà – B ¸Û±ùÜ©Û¶ÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé 
Score of Teaching 

Method – B 

09 14 

04 17 

05 15 

12 18 

06 23 

08 16 

03 13 

02 21 

07 11 

10 19 

- 20 

 (B) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà¶ÛÛ …ÛµÛÛÁéõ ¾ÛµýÛÍ¬Û ïõÍÛÛé¤øà¶ÛÛ ÜÈÛÍ©ÛÁõ¨Û ³ùÛÁõÛ ÉÛæ¶ýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûà 
˜ÛïõÛÍÛ¨Ûà ïõÁõÛé : (α = 0.05) 

  Test the null hypothesis by using the extension of median test from the following 
data. (α = 0.05)    

›æ÷¬Û 
Group 

I II III 

27 12 33 

06 07 09 

29 10 22 

28 26 11 

31 08 25 

13   
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 (C) ¼Ûé ›æ÷¬ÛÛé¶Ûé ýÛþù˜™ö Áõà©Ûé ¸ÛÍÛ×þù ïõÁõà¶Ûé ©Ûé¾Û¶Ûé ÜÍÛÜ±ù ¸ÛóéÁõ¨ÛÛ ïõÍÛÛé¤øà …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛà. ©Ûé¾Û¨Ûé ¶Ûà˜Ûé ¾Ûä›÷¼Û 
¸ÛóÛ¸©ÛÛ×ïõÛé ¾ÛéÇÈýÛÛ. …Û ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ ¾ÛÛ¶Û-ÜÈÐü¤ø¶Ûà ‘ýÛä’ ïõÍÛÛé¤øà ³ùÛÁõÛ 0.05 ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ…é 
ÉÛæ¶ýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûà ˜ÛïõÛÍÛ¨Ûà ïõÁõÛé : 

  Two groups were selected randomly. Achievement Motivation test was administered 
to them. Scores obtained by them are given below. From this data, test the null 
hypothesis at 0.05 level of significance by using the Mann-Whitney ‘U’ test.  

›æ÷¬Û-I¶ÛÛ× ¸ÛóÛ¸©ÛÛ×ïõ 

Scores of Group-I 
32 44 46 29 39 37 21 31 34 41 26 23  

›æ÷¬Û-II¶ÛÛ× ¸ÛóÛ¸©ÛÛ×ïõ 

Scores of Group-II 
42 50 35 51 30 48 49 47 28 38 45 25 33

 (D) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ ïõÛéÅ¾ÛÛé•ÛÛéÁõÛéÈÛ-ÜÍ¾ÛÁõ¶ÛÛéÈÛ ïõÍÛÛé¤øà ³ùÛÁõÛ 0.05 ÍÛÛ¬ÛÙïõ©ÛÛ¶Ûà ïõ“ÛÛ…é 
ÉÛæ¶ýÛ ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶Ûà ˜ÛïõÛÍÛ¨Ûà ïõÁõÛé : 

  Test the null hypothesis by using Kolmogorov-Smirnov test at 0.05 level of 
significance from the following data :   

¸ÛóÛ¸©ÛÛ×ïõÛé 

Scores 

™öÛéïõÁõÛ…Ûé 

Boys 

™öÛéïõÁõà…Ûé 

Girls 

15-19 3 1 

20-24 2 1 

25-29 1 1 

30-34 1 1 

35-39 3 1 

40-44 3 3 

45-49 4 1 

50-54 1 1 

55-59 1 1 

60-64 1 1 

 

5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ-¼Ûé ÈÛÛîýÛÛé¾ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : (ïõÛéˆ¸Û¨Û ÍÛÛ©Û) 14 

 Write an answer in one or two sentences of the following questions : (any seven) 

 (1) …Û×ïõ¦øÛÉÛÛÍªÛ¶ÛÛ× ÜÈÛ½ÛÛ•ÛÛé ›÷¨ÛÛÈÛÛé. 
  State the Sections of Statistics. 

 (2) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ …é¤øÅÛé ÉÛä× ? 

  What is Regression ? 
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 (3) Ü³ù-ËÛéÜ¨Ûïõ ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõà ÉÛïõÛýÛ ? 

  When Biserial Correlation can be used ? 

 (4) ˜Û©ÛäÌïõÛéÜÌ¤øïõ ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛé …¬ÛÙ …Û¸ÛÛé. 
  Give the meaning of Tetrachoric correlation. 

 (5) ºõÛˆ ÍÛÐüÍÛ×¼Û×µÛ¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõà ÉÛïõÛýÛ ? 

  When Phi correlation can be used ? 

 (6) ÜÈÛ˜ÛÁõ¨Û ¸Ûè¬¬ÛïõÁõ¨Û …é¤øÅÛé ÉÛä× ? 

  What is analysis of variance ? 

 (7) ¾ÛµýÛÍ¬Û ïõÍÛÛé¤øà¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõà ÉÛïõÛýÛ ? 

  When Median Test can be used ? 

 (8) ¾ÛµýÛÍ¬Û ïõÍÛÛé¤øà¶ÛÛ ÜÈÛÍ©ÛÁõ¨Û¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõà ÉÛïõÛýÛ ? 

  When extension of Median Test can be used ? 

 (9) ¾ÛÛ¶Û-ÈÐüà¤ø¶Ûà ‘ýÛä’ (U) ïõÍÛÛé¤øà¶ÛÛé Ü¶ÛþùÉÛÙ …¶Ûé ¾ÛÛ¸Û¶Û¶Ûà ïõ“ÛÛ ›÷¨ÛÛÈÛÛé. 
  State sample and level of measurement of Mann-Whitney ‘U’ test. 

 (10) Ü³ù-¸Ûè˜™öàýÛ ïõÍÛÛé¤øà …é¤øÅÛé ÉÛä× ? 

  What is two tailed test ? 

________ 
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